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In document S1.13 there remain several open issues which have been pointed out during WG1#3 but have not been decided by an Ad Hoc or plenary.

This paper provides an opportunity to settle these issues:

1. baseband -> RF mixing: should “sin(wt)” or “-sin(wt)” be used?

2. 6.3.2.2 (uplink) Long scrambling code

choice of 250s or 875s

recommend  875s

3. 7.2.3.1 Code Generation (for Synchronisation codes)

It has been pointed out that the text is not sufficiently definitive nor correct.

----------- text proposal ----

The Hadamard sequence h depends on the chosen code number n and is denoted hn in the sequel.

This code word is chosen from every 8th row of the matrix H8. Therefore, there are 32 possible code words out of which 18 are used.
Furthermore, let hn(i) and y(i) denote the i:th symbol of the sequence hn and y, respectively.

Then hn is equal to the row of H8 numbered by the bit reverse of the 8 bit binary representation of n.


The definition of the n:th [SCH][search] code word follows (the left most index correspond to the chip transmitted first in each slot): 

CSCH,n = < hn(0)+y(0), hn(1)+y(1), hn(2)+y(2), …,hn(255)+y(255) >,

----------- end text proposal ----

4. Typo in section 6.3.1

The DPCCH is spread by code number 1 in any code tree as described in Section 6.3.1.

